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Question ID : 98958016928
Status : Answered
Chosen Option: 1

Q.2 ¥ AWESOME <kt 1551645 & ¥U & chisdg foha1 SiTa &, af DIGNITY ht & shisag forar
SITQm?

Ans X" 14974937
/X 2.4875928
75 3.3965927
o 4. 4975927

Question ID : 98958016908
Status : Answered
Chosen Option : 4




Q.3 A Fy Ry g g, 59 a8 i e |, 1l ok 111 g 7 &1 e ot 9 A gg, wa 8t @ 3
R WR T a2l | orer g, g Fvfa #ifSig fk i @@ R swueit @ arfdhias w0 @ srqaRrorn

Ans

AT &/hed &l

YU
o sifel Arsfhet &1
it arsferet e &1

fAreen:

|. o gah STt &1

Il. TS gk Trsfha &1

Ill. g arsfret sifel &
25 1. e e 11 3R 111 SeRT &R &
o 2. @f P srgaror = 8
2 3. Freamd | 3R 111 SrgERor & &1

75 4. Sae s | 3R 11 SER0T &R &1

Question ID : 98958016916
Status : Answered
Chosen Option : 2

Q.4 Fr=afaflq gefteor ot 9 aa & fAg 59 gefiezor # fa &t Rgl &t ermug § seern @fge?

Ans

612 +36-12x 88 +208 =324
X1.+3ﬁ?+
“2.x3ﬁ?-
< 3.+ aR-
X 4.+ 3iRx

Question ID : 98958016918
Status : Answered
Chosen Option: 2

Q.5 39 fAoey o1 999 &R S dIR HER-Tg | Ut avE Hafda & 9 v S18R-9g s S1eR-

Ans

g | efda 81

LPCK : QUHP : : HRMT : ?
o 1. MWRY
75 2.Lwsy

/X 3.NwsY

/X 4.MVRZ

Question ID : 98958016909
Status : Answered
Chosen Option : 1

Q.6

Ans
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A-Baaf@ Aucitg B’
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Question ID : 98958016912
Status : Answered
Chosen Option : 1

Q.7 I AE-gr T 9T e foraH &t AeE I o @ it g S for frefaf@e sree-gm d &t areg
wafoa gl

IR} : TR
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Question ID : 98958016913
Status : Answered
Chosen Option: 3

Q.8 fA=fafEd arR Tt & @ 9 9w v Affa adis @ uar 919 @ 3R Ueh oo &1 39 31emt
T 94 Hifsigl

Ans  of 1 150
/X 2.343
75 3.216
X 4.512

Question ID : 98958016923
Status : Answered
Chosen Option : 1

Q.9  Select the Venn diagram that best illustrates the relationship between the following classes.

Engineers, Graduates, Males
Ans

F

X2

@O

Question ID : 98958016930
Status : Not Answered




l Chosen Option : --
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Question ID : 98958016929
Status : Answered
Chosen Option : 2

Q.11 ‘Pain’ is related to ‘Agony’ in the same way as ‘Angry’ is related to *
Ans X 1. Grandiosity

x 2. Bitterness

X 3. Ecstasy
« 4. Furious

Question ID : 98958016910
Status : Answered
Chosen Option : 4

Q.12 fA=fafaa nfafafat o arfther ofi arefe v & sgafeaa =R

1. Zar3fi v u=If forar s

2. 9z 9 <& "ggd &
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6. %< @ ugd e

Ans X" 1.32,4,1,56
75 2.2,3,4,51,6

W 3234156

/X 4.2,31,4,56

Question ID : 98958016906
Status : Answered
Chosen Option: 3

Q.13 I HEAT-GH T TG & o 9H &t Gy 34t avg @ H6fda & 99 fos afof@e den-gm &
& S Hefda g

8:128
Ans X" 1.10:220
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Question ID : 98958016919
Status : Answered
Chosen Option : 4

Q1 a3 ey 7 ww FY S A & TE AP AT F 3T T T AR
ks SEER

Ans '_

X E

Question ID : 98958016925
Status : Answered
Chosen Option : 4

Q.15 ek ht UTuT &, MILITARY st ATCVKNKO & ¥4 & for@r Sitar 21 DISORDER 1 39 9oT # &t
forar sTaEm?

Ans X" 1 TGFTSTLF
75 2. SHGTRUKF
/5 3. TIFSQULH
o 4 TGFTQUKF

Question ID : 98958016907
Status : Answered
Chosen Option : 4

Q.16 I TI=IT T TG & forTH GEad 3t avg @ Hafda g i fs fRafafaa age=ag fir gwend
Tefda gl

(140, 85, 115)
Ans o 1 (115,65,80)
75 2. (125,65, 120)
75 3.(55,70,90)
75 4. (65,50, 90)




Question ID : 98958016921
Status : Answered
Chosen Option: 1

Q.17 TR &R} & TalST o1 99+ &< sl foh & 71 a18R sjzaen & Reh Tyl # e 9 9 @ 51w
SJREEAT Tt GRT 1|

c__plopc__rplo_c_c_pl_pc
Ans "1 crpcprro
Jz.crccpcro
X&prccpcrr
X4.crpcpcro

Question ID : 98958016911
Status : Answered
Chosen Option : 2

0 & i el F feae Fege dlsg B2

DN

Ans X126
V2 25
X3 27
X428

Question ID : 98958016926
Status : Answered
Chosen Option : 2

Q.19 FRafafaa ar el & @ i 21 v AfYa adid @ g S € iR Uk e &1 3 31T 208 &l
RIS

Ans X1 dgfem
X 2. wgREm
3.zt
7 4. iR

Question ID : 98958016915
Status : Answered
Chosen Option: 3

Q.20 =1 gl A, B 3R C & oftar 3209 o1 et AT 36 kg RaRa frar s g fF A e B o9 &
©g AT & 3R C & 47 B & o1 @ IR A1 81 A ol foham wug fast &7

Ans X" 1115
X 2.113
X 3112
o 4114




Question ID : 98958016917
Status : Answered
Chosen Option : 4

Q.21 ue & ordr Fr & srerer-3rereT Rufaat r A= g T}, 5U% O Beet W 1 ¥ 6 I #T AT
3ifea §1 2 dTa T Sew & WA T EA AT e

5% 0
P
<16
~< 21

X33
V4

Ans

Question ID : 98958016924
Status : Answered
Chosen Option : 4

Q22 g fameT F1 T N S F-vaw daERT § 3 B gEe & Rty 78 )

2\

Figure-X

Ans

Question ID : 98958016927
Status : Answered
Chosen Option : 4

Q.23 I TH=II T TG e (o1 TH HE&AT] 391 avg § Hafda g 519 fos =i age=a i d=d
Tafaa g1

(64,7,27)




Ans  of 1 (216,11,125)
/X 2.(343,18,125)
/X 3.(216,15, 64)
X 4.(127,15,161)

Question ID : 98958016920
Status : Answered
Chosen Option : 1

Q.24 FfafEa sjaer # = ot de ust R (7) & = w ergi 2
52, 54, 57, 62, 69, ?
Ans X185
W 280
/X 3.9
75 4.95

Question ID : 98958016922
Status : Answered
Chosen Option : 2

Q.25 f=faf@d ar sier-wgl d @ o= s1eR uig v PRiffa a8d 9 v 519 € ofk T e 8139
ST 318R 9HE i gAY

Ans o 1 1Qvz
75 2.CHMR
/< 3.6LQv
75 4.SXCH

Question ID : 98958016914
Status : Answered
Chosen Option : 1

Section : General Awareness

Q.1 2019 aret AR Gachich (Fhgw W3 §39) | WRA T T AT UT?
Ans " 1. 123at

/X 2. 704t
/X 3.102af
o 41173

Question ID : 98958016601
Status : Answered
Chosen Option: 3

Q.2 U GitedwR Wi # Gah Thi ot Iuaiireral st gah T9a d s Wi 3am Y sigafa 3t @ 59
gl ST &

Ans X1 gd MR
X 2. daEam
75 3. gede




Question ID : 98958016587
Status : Answered
Chosen Option : 2

Q.3 "fFAEAfef@a § @ F9 wiEeR ST R T AfRAEl ) A & g sigar ured @A areft ugsht

afge wrgeR uraee a7
Ans x 1. I &S
/X 2. IswiEen ISd
J&ma:ndﬁ
7< 4 e g

Question ID : 98958016602
Status : Answered
Chosen Option : 3

Q.4 gt iR Pafafaa 3 @ fora @« @ d@dfia 82
Ans X1 fndhe

\fz‘smz\—rr
/< 3. dcfie
p

Question ID : 98958016599
Status : Not Answered
Chosen Option : --

Q.5 a¥ 1854 #, WRa M ugeh Furg AT MU Fas MaF sud

Ans (1@@
75 2. e

/X 3.7
75 4. Rt

# fi e o

Question ID : 98958016592
Status : Answered
Chosen Option : 3

Q.6 =t Fr=fafla wRdia awal 7 @ fora @1 ge uflrg i areri= &2
Ans xl%’r@

o 2. sifean

#< 3.7

X 4=

Question ID : 98958016580
Status : Not Answered
Chosen Option : --

Q.7 F=afafla d @ wi=-a1 gur 7 gemsfia Ref@= & 5t @7 & uadh, g8 & Tau=a sikga &

hierraw & TR ol Fifa o=t J e A @)

Ans




X1 Rt A
/X 2. RefeB
o 3. Rk
/X 4 RafEc

Question ID : 98958016585
Status : Answered
Chosen Option : 3

Q.8 WRA & HiAur & fFd srgede | wlhawT # srggfa winfa ok srggfaa serea & forg Hied &
SIRETUT <hT UTIHT &7

Ans X" 1 arqese 335
o 2 s 330
/X 3. agede 321
/X 4. s 325

Question ID : 98958016596
Status : Not Answered
Chosen Option : --

Q.9 Reelt 39 Afe wR' Afaf@a d @ fra dae A ot 82
Ans  of 1 Rats

75 2. guda Rig

/X 3. srufa g

25 4. afen 2

Question ID : 98958016594
Status : Not Answered
Chosen Option : --

Q.10 arfnforat & fag, a1 3ref @ foreft Seute ot @ar Y ag A (D ot @ & g dar
3R werw g1 gl

Ans X-U:Eq
X 2. amgfd
75 3.9m
o 27

Question ID : 98958016581
Status : Answered
Chosen Option : 4

Q.11 e oifor 3 Yt AR # & R o fRram?
Ans X" 1 g AreR

W 2 S fe

X 3. sraRteR et

X< 4 v ghaw

Question ID : 98958016579
Status : Answered




l Chosen Option : 4

Q.12 ¥4 &I, 91l 3R i@l ht IR A1 3 a1et To7eh (Fme) ht o gt STraT 87
Ans Jyﬁ@ﬁ—_r

X 2. FfmRe

/X 3. deamtE

X 4. A

Question ID : 98958016584
Status : Answered
Chosen Option : 1

Q.13 1903 # ¥ifref 1 et REPR Sfia areft ugeht afgen @i ot
Ans x 1. 99 Terg

V 2 20wl

/X 3. S ffora

/X 4. e mrgw

Question ID : 98958016583
Status : Answered
Chosen Option : 2

Q.14 forft R T i TsauTe g9 arelt uged! afger @ 4?2

Ans  of 1 TS ATIg
/X 2. ot werh dfea

75 3. 3T Sk Sreft
X 4. o g8iRiE

Question ID : 98958016597
Status : Answered
Chosen Option : 2

Q.15 fF=fafea d | fora & 7 enddige 2019 sfiar?
Ans X1 Rl Sftee

o 2 = R

#< 3. 9 g b

75 4. Sierehrdn ATge Ay

Question ID : 98958016600
Status : Answered
Chosen Option : 2

Q.16 sfieiet, ¥Rd & &feror gf e & ure utews ®e (Palk Straight) ik &Y @t & @&t ok
fRa g

Ans  of 1 TR
X 2w
/X 3. @
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Question ID : 98958016590
Status : Answered
Chosen Option : 3

Q.17 2011 &Y STIUMT & AHFHR, WR I HH-TT fAT T 1Ak ard) aren &2

Ans x"T‘_‘W
75 2. 90, dfirerrg
7% 3. s, 3w e
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Question ID : 98958016589
Status : Answered
Chosen Option : 2

Q.18 The total number of living organisms, both plants and animals, in a given area is called:

Ans & 1. batholith
x 2. barrage

J 3. biomass
x 4. buffers

Question ID : 98958016588
Status : Answered
Chosen Option : 3

Q.19 Frafaf@ea sifaeared/sfRtat 7§ @ fram g enftfes goh-3f3ar srards, 2018 # witae

a7 sz qrER Sitar ur?
Ans X 1. sgeE @
o 2. e 8
75 3wy e
/X 4. e sieRrg

Question ID : 98958016595
Status : Answered
Chosen Option : 1

Q.20 3T wiEh SieRiia gars orgr gl fea 82
Ans X1 TS

K 2R

o 3. iR

X 4. 5TTR

Question ID : 98958016591
Status : Answered
Chosen Option : 2

Q.21 The term 'address' is associated with which of the following sports?

Ans X" 1 Hockey

o 2. Golf




x 3. Cricket

X 4. Swimming

Question ID : 98958016598
Status : Answered
Chosen Option: 2

Q.22 fay 3= wHay gy sa g=man ST 82

Ans J‘|4171:r5§
X 2,14 3
/X 3.23 5ad
X 416 wRad

Question ID : 98958016603
Status : Not Answered
Chosen Option : --

Q.23 TR (FER) # ag Ry o awie= fhw af emaifSia faram mar o, e @it fRderg & af

frwares avhe ot Teh g SRy ur & w0 F enfAe foRar mam ur?

Ans X" 11978
75 2.1882
/X 3.1889
o 41893

Question ID : 98958016593
Status : Answered
Chosen Option : 2

Q.24 In economics, IPO stands for

Ans x 1. Indented Performance Objective

x 2. Inventory Performance Output
J 3. Initial Public Offering

x 4. Inclusive Property Offer

Question ID : 98958016582
Status : Answered
Chosen Option : 3

Q.25 Gurer § JoT H TR B 3HTE 21
Ans X" 1 RmaTEe

75 2.ame

/X 3. wfrarse

o 4 fe

Question ID : 98958016586
Status : Answered
Chosen Option : 4

Section : Quantitative Aptitude




Q1 s &er 230000 T 7rg =1 FE TAR 20% 3R 5% F & FEF ge W wlhear &1 @ 3EH
FEAT W 71200 @F U ¥ 3 38 230000 # 9 &7 ¥| SHeT snsEny g Fam i

Ans X1 20% gifar
X 2 20% o
X 3 25% gfer
o 4 25% FTeT

Question ID : 98958017285
Status : Answered
Chosen Option : 4

Q2 g 3 $r FwaT 64x29y6 (x > y), AfE 72 ¥ Fwsw ¥, & (2x - 3y) FT AT AT §?
Ans (1. 3

X227

<313

<49

Question ID : 98958017290
Status : Answered
Chosen Option : 3

3 1fa3-b3=899 T a-b =231 (a-b)?2+ 3ab | E
ans X 1. 31

X216

vz 29

< 4 35

Question ID : 98958017294
Status : Answered
Chosen Option : 3

Q.4 A 3k B ¥F 357 F7 0T 242000 ¥ A H9T I FT 75% IR B 3Ta A5 T 90% @ T Bl I
HE 30 999 GA 8, a B #7397 (2 H) Fr &2

Ans X 1.212,600
~< 2 215,000
#< 3 218,000
« 4 230,000

Question ID : 98958017286
Status : Answered
Chosen Option : 4

Q3 Ffr coso —4x3sin® = (x = OF A (LP+) FATE

Ans




-
3|._ B |

(I TS [

Question ID : 98958017300
Status : Answered
Chosen Option : 2

Q.6 Ram TmT g% NG (IR ) o AeAOR F9T, 2013-2014 F 2017-2018 o, & SN el T &
gfieThe ¥ Hew H facanfiat fr wwa Fr gafar ¥

Resuitin a school

350
300
250 -

200 — o MR — [mFass
R
100 - : :
50

a - |

013200 201 153016 eI AT

frm darftrs af & st sl st Reafiat #r T & @9 & ooy Tew w7
Ans X1 2016-2017

v 2 2013-2014

X 3 2014-2015

X 4 2015-2016

Question ID : 98958017302
Status : Answered
Chosen Option : 2

Q7 Avfafim 40 FAET s R FR AT §I ByART B0 AT f slv e e FH HTAT ¥ 1 B
3T A Fr 9T & ARy #1 g &

s of1.9:16
X24:5
X:16:9
X45:4

Question ID : 98958017288
Status : Answered
Chosen Option: 1

Q8 i 7 (cosec?55° — tan?35°) + 25in90° — tan?52°%ytan?38° = g gy FTAATL

Ans 1. 9
<23
<31
v




Question ID : 98958017299
Status : Answered
Chosen Option : 4

Ans

# 1.240,000
v 2 330,000
X 3. 345,000
X 4 235,000

Q.9 A sk B B w@ F1 Haw 15 A 3R 10 /AT & 9w = % 1 v F9 275000 F 9T
F U 3% &9 (Figae) oem & & ofr & A = v (2 H) @m

Question ID : 98958017281
Status : Answered
Chosen Option : 2

Ans

oieTre ¥ FE § femfint & gww w=r gl ¥

Resultina school

il

orer eIfirer aut & 3T 2 Trer it $r sitme TEm A

< 1.300
X2 225
X 3 250
v 4 240

Q.10 far 7w &5 3@ (AW IH) o= e Tul, 2013-2014 F 2017-2018 &, & A oF =t &

Question ID : 98958017304
Status : Answered
Chosen Option : 4

Ans

X 1.26.78%
~< 2 13.13%
V2 20.79%
X 4 21.69%

Q11 =fy sz #r 9o F 9= 1% FA & & AV, O TEH ST6d el Faod HF g Awm?

Question ID : 98958017283
Status : Answered
Chosen Option: 3

Ans

<1180

Q12 gy yoenfyat & wf & @1 &7 s 2 0 5 ¥ 7Y 9ger IeEndr 5 uE & 250 B weeh o @t
Yeenfedt $r 7fF (km/h) F 3 E:




v2 75
#3150
X 4 65

Question ID : 98958017282
Status : Answered
Chosen Option : 2

Q.13 g7 A ABC ~A0PR3ﬁT§Z§§‘§2§§=i £ afy AB = 12 cm, BC = 8 cm 3R AC = 10 cm &, & GR
Criced-a

A of 1 D5
<220
<315
<418

Question ID : 98958017298
Status : Answered
Chosen Option: 1

O k=245 E @ C+x? F oAA L

Ane X1 4045
X2 4645
V'3 3445
X 4 3645

Question ID : 98958017293
Status : Answered
Chosen Option: 3

OB gfr xt+x =104 F x>0)Far 2x—4)? FAHT L :
Ans X115

X2 20

v 12

X 416

Question ID : 98958017292
Status : Answered
Chosen Option : 3

Q.16 3
46 —20f32-6
4 T Telepd AT 2
11+Euf(34—6)
Ans 1

X‘I.a




Ll S B B S Y

Question ID : 98958017291
Status : Answered
Chosen Option : 3

Q.17 Tz aw &= NG (I IMH) or= et aut, 2013-2014 F 2017-2018 &, % SR % Tl &

Ans

wfreTer ¥ TN # TagmiEat #r TEw # g §

Resultin a school

35

50
300 -
as0 - - - —
200 - e
e EEEE
100 - - - . .
50
] {
aamu JOW SN Jen 20720

Tl ofar Sl ast & e argen’ gu o et =1 sgmfae sfoem (Prereasr quie &) #r
&2

X1.21%
v 2 27%
X 3 22%
X 4 28%

Question ID : 98958017303
Status : Answered
Chosen Option : 2

Q.18 ABCD w= =ém wge= & 5w AB §9 == Iew 7 =@ ¢ 3T H1or ADC = 126° #1 £BAC =R

&
Ans x 1. 720
v 2 36°
X2 18°
K4 24°
Question ID : 98958017296
Status : Answered
Chosen Option : 2
Q.19 o
I cosx = T\E TAT < x<32—“, ar 2cot®’x+ 3cosec’x @ HIA g
Ans

X1 8
X216
X314
v 18




Question ID : 98958017301
Status : Answered
Chosen Option : 4

Q.20 geiis 2.5 em Rr=am T & gt & A F A F gl 13 om F1 5 sewfess TG (transverse
common tangent) Fr FEE (cm #H) &

Ans X1, 8
v 12
X310
X4 6

Question ID : 98958017295
Status : Answered
Chosen Option: 2

Q21 T =ofea & S avge @id, S F woliw 1 FAT 23000 off FES 3 aEgE # FE 15%
@, 10% &1 3 15% gy S o= | 38 g ifeia Fo amsa/gTey whoere &

s X1 10% @i
v 2% @
X3 F oy 7 e
x 4 ?% g

Question ID : 98958017287
Status : Answered
Chosen Option : 2

Q.22 fegr Tmam 4= 3N (AR E) ST ST TN, 2013-2014 F 2017-2018 FF, F ERA F T F
ofteTEe ¥ dea H fgmfiat £ wew #r guar ¥

Resultina school

1

Tagatiat & For Fewr # fowa 32, Fow St 3 $r goar & 5w af 7= +57 §2
Ans 1. 2017-2018

v 2 2016-2017

X 3 2014-2015

< 4 2015-2016

- aE 2 EEE Y

Question ID : 98958017305
Status : Answered
Chosen Option : 2

Q.23 1 ABC #, +A =52} $HH H=T AB 3T AC Fer: D #R E % =gr$ == §1 3@ <CBD 3w
¢BCE % wHgfasT=i% fog O W fe § & ~BOC Toem &




Ans %1 16°
v 2 64°
X3 32°
X 4 106°

Question ID : 98958017297
Status : Answered
Chosen Option : 2

Q.24 o5 zafemat # dwa w1y 32 a9 §1 3R & AR e # S @ e & ee 3 av 5 e g
v sl # 3 A 0 99 F R ¥ Av OfFad #F ¥ wEw o & A @ @) ©

Ans o 1 B3
< 2 58
<3 62
X< 4 50

Question ID : 98958017284
Status : Answered
Chosen Option : 1

Q.25 frh PfRTd o W 21% ¥ 2 a5t & Bw Togfe =9 696155 s X T iR sa= S 70 &
BT THe AT = (2 ) T

Ans  of 136,300
< 2 36,000
X 3. 36,500
X 4 26,750

Question ID : 98958017289
Status : Answered
Chosen Option : 1

Section : English Language

Q.1 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

We have been waiting to watch this movie since we first read its review.

Ans X" 1. We are been waiting
X 2. We has been waiting
x 3. We have being waiting

J 4. No improvement.

Question ID : 98958016224
Status : Answered
Chosen Option : 4

Q.2 Identify the segment in the sentence which contains the grammatical error.

With this heat wave on, we are having a terrible weather.




Ans  of 1. aterrible weather

X 2. we are having

X 3. heat wave on

75 4. With this

Question ID : 98958016220
Status : Answered
Chosen Option: 3

Q.3 Select the most appropriate word for the given group of words.

a short statement of a general truth or rule of conduct

Ans X" 1 instance
J 2. maxim
x 3. parable
x 4. illustration
Question ID : 98958016240
Status : Answered
Chosen Option : 2
Q.4 Select the correctly spelt word
Ans X" 1. reciept
x 2. reeciet
x 3. reiceit
J 4. receipt
Question ID : 98958016242
Status : Answered
Chosen Option : 4
Q.5 Identify the segment in the sentence which contains the grammatical error.
As you know that | always like to have ice-cream after my dinner.
Ans x 1. l always like

X 2.to have ice-cream
X 3. after my dinner

J 4. As you know that

Question ID : 98958016221
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Students of marketing know that the term Unique Selling Proposition, or USP was developed
in the 1940s in the United States. USP is (1) as the true value (2) a firm. At the
core of (3) successful business, there is (4) a value proposition, something (5)
promoters and the managers are proud of.

SubQuestion No : 6




Q.6 Select the most appropriate option to fill in blank No.1.
Ans ( 1. regarded

X 2. reviewed

X 3. referred

X 4. repeated

Question ID : 98958016227
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Students of marketing know that the term Unique Selling Proposition, or USP was developed
in the 1940s in the United States. USP is (1) as the true value (2) a firm. At the
core of (3) successful business, there is (4) a value proposition, something (5)
promoters and the managers are proud of.

SubQuestion No : 7
Q.7 Select the most appropriate option to fill in blank No.2.

Ans  of 1 of
X 2.0n
X 3.by
X 4. from

Question ID : 98958016228
Status : Answered
Chosen Option: 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Students of marketing know that the term Unique Selling Proposition, or USP was developed
in the 1940s in the United States. USP is (1) as the true value (2) a firm. At the
core of (3) successful business, there is (4) a value proposition, something (5)
promoters and the managers are proud of.

SubQuestion No : 8
Q.8 Select the most appropriate option to fill in blank No.3.

Ans " 1 only
x 2. large
o 3. every
X 4. sole

Question ID : 98958016229
Status : Answered
Chosen Option: 3

Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Students of marketing know that the term Unique Selling Proposition, or USP was developed
in the 1940s in the United States. USP is (1) as the true value (2) a firm. At the




Q.9
Ans

core of (3) successful business, there is (4) a value proposition, something (5)
promoters and the managers are proud of.

SubQuestion No : 9
Select the most appropriate option to fill in blank No.4.

W 1.always
X 2.0ne
75 3.even
X 4. ready

Question ID : 98958016230
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Students of marketing know that the term Unique Selling Proposition, or USP was developed
in the 1940s in the United States. USP is (1) as the true value (2) a firm. At the
core of (3) successful business, there is (4) a value proposition, something (5)
promoters and the managers are proud of.

SubQuestion No : 10

Q.10 Select the most appropriate option to fill in blank No.5.

Ans X' 1 those
X 2. this
X 3. there
“ 4. the
Question ID : 98958016231
Status : Answered
Chosen Option : 4
Q.11 Select the correctly spelt word
Ans ( 1. achievement
x 2. acknoledgement
X 3. accreditted
x 4. accoustomed
Question ID : 98958016243
Status : Answered
Chosen Option: 1
Q.12 Select the most appropriate antonym of the given word.

Ans

ADVANCE

x 1. move
75 2. shift
( 3. retreat

X 4. progress

Question ID : 98958016236
Status : Answered




l Chosen Option : 3

Q.13 Select the correct passive form of the given sentence.

They will complete the painting in a week's time.

Ans x 1. The painting was completed in a week's time.
« 2. The painting will be completed in a week's time.
x 3. The painting had been completed in a week's time.

X 4. The painting is completed in a week's time.

Question ID : 98958016222
Status : Answered
Chosen Option : 2

Q.14 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. For them, it's like a magic carpet, their version of a car.
B. All kids want to be older, so from an early age they imitate their parents or siblings.

C. While cycling they imagine they are doing adult things or being adults.
D. Bikes offer them a chance to be independent.

Ans X" 1 BACD

75 2.ADCB
o 3.BDAC
75 4.DCBA

Question ID : 98958016232
Status : Answered
Chosen Option: 3

Q.15 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

I'm afraid | am not knowing how to swim so | can't join you all that day.
Ans x 1. I'm afraid | is not knowing

« 2. I'm afraid | do not know
x 3. | are afraid | be not knowing

X 4. No improvement.

Question ID : 98958016225
Status : Answered
Chosen Option : 2

Q.16 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. The woman is wearing an evening dress and heavy make up, which is now smeared
across her cheeks.

B. But, who is she, and how did she get there?

C. It's seven in the morning and the Bantrys wake to find the body of a young woman in their
library.

D. The respectable Bantrys invite Miss Marple to solve the mystery before tongues start to
wag.

Ans X" 1 DCBA

75 2.cDBA
o 3.CABD




75 4.BACD

Question ID : 98958016233
Status : Answered
Chosen Option : 3

Q.17 Select the most appropriate word for the given group of words.

A word formed from the initial letters of other words and pronounced as a word
Ans X" 1. epitome

X 2. precise
J 3. acronym
75 4. ellipsis

Question ID : 98958016241
Status : Answered
Chosen Option: 3

Q.18 Select the correct indirect form of the given sentence.

The interviewer asked Ashok, "Why did you leave that job last month?"

Ans ( 1. The interviewer asked Ashok why he had left that job the previous month.
x 2. The interviewer asked Ashok that why did he leave that job the previous month.
x 3. The interviewer asked Ashok that why he leave that job the last month.

x 4. The interviewer asked Ashok why you have left that job the previous month.

Question ID : 98958016223
Status : Answered
Chosen Option : 1

Q.19 Select the most appropriate word to fill in the blank.

The annual wholesale price index jumped to its highest level last month posing a fresh
for policy makers to remain watchful on the price front.

Ans X" 1. check
#< 2. choice
of 3. challenge
75 4. chain

Question ID : 98958016244
Status : Answered
Chosen Option: 3

Q.20 Select the most appropriate synonym of the given word.

ORTHODOX
Ans X" 1 civilized
/5 2. habitual
( 3. traditional
x 4. deliberate

[ Question ID : 98958016235




Status : Answered
Chosen Option : 3

Q.21 Select the most appropriate meaning of the given idiom

at arm's length

Ans “ 1. avoiding too much closeness
x 2. as close as one can touch
x 3. checking the length of fabric

x 4. using one's arm to measure length

Question ID : 98958016238
Status : Answered
Chosen Option : 1

Q.22 Select the most appropriate word to fill in the blank.

The airline had earlier payment only to those in the high-income bracket but now
salaries have dried up for everyone.

Ans x 1. demanded

“ 2. deferred

X 3. deployed
x 4. decided

Question ID : 98958016245
Status : Answered
Chosen Option : 3

Q.23 Select the most appropriate synonym of the given word.

QUEST
Ans X" 1. destination

x 2. route
“ 3. search
x 4. path

Question ID : 98958016234
Status : Answered
Chosen Option: 3

Q.24 Select the most appropriate meaning of the given idiom

acid test

Ans X" 1.amalicious way of taking revenge
x 2. proof that an attack has been made
J 3. definitive proof of truth or falsehood

x 4. a test that shows how to harm someone

Question ID : 98958016239
Status : Answered
Chosen Option : 3




Q.25 Select the most appropriate antonym of the given word.

ARROGANT
Ans o 1 humble

X 2. uncouth
75 3.bold
X 4. rough

Question ID : 98958016237
Status : Answered
Chosen Option: 1




